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BOOKS - RS AGGARWAL MATHS

(HINGLISH)

COORDINATE GEOMETRY

Solved Examples

1. Find the distance the points A(7, 13) and

B(10, 9).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bGYQvoDQMqoV


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5

6

7

8

2. Find the distance between the points P(-4, 7)

and Q(2, -5).

https://dl.doubtnut.com/l/_bGYQvoDQMqoV
https://dl.doubtnut.com/l/_l8vAsPID03xk


A. 

B. 

C. 

D. 6

Answer: D

Watch Video Solution

5

6

7

√5

3. Find the distance of the point  from

the origin

(6, − 6)

https://dl.doubtnut.com/l/_l8vAsPID03xk
https://dl.doubtnut.com/l/_qpjLHzEfTRbl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6√3

6

6√2

3√2

4. Find the value of y for which the distance

between the points A(3, -1)and B(11, y) is 10

units.

https://dl.doubtnut.com/l/_qpjLHzEfTRbl
https://dl.doubtnut.com/l/_KaH45YlXs4cj


A. -5

B. -6

C. 4

D. -7

Answer: D

Watch Video Solution

5. If the
point 
 is
equidistant from

the points 
 and 
 , find the

values of 
.

P (k − 1, 2)

A(3, k) B(k, 5)

k

https://dl.doubtnut.com/l/_KaH45YlXs4cj
https://dl.doubtnut.com/l/_kXY3GQ3Fe7GW


A. k=2

B. k=5

C. k=0

D. k=-1

Answer: B

Watch Video Solution

6. Find the relation between x and y such that

the point P (x,y) is equidistant from the points

A(1, 4) and B( − 1, 2).

https://dl.doubtnut.com/l/_kXY3GQ3Fe7GW
https://dl.doubtnut.com/l/_1TTbbCmOuK7b


Watch Video Solution

7. Find those points on  -axis, each of which is

at a distance of  units from the point

A. (0,1)

B. (-1,0)

C. (1,9)

D. (0,9)

Answer: C

x

5

A(5, − 3)

https://dl.doubtnut.com/l/_1TTbbCmOuK7b
https://dl.doubtnut.com/l/_VnhqybJkK65O


Watch Video Solution

8. Find those points on the y-axis, each of

which is at a distance of 13 units from the

point A(-5, 7).

A. 

B. 

C. 

D. 

Answer: C

(1, 19)

(2, 19)

(0, 19)

(1, 2)

https://dl.doubtnut.com/l/_VnhqybJkK65O
https://dl.doubtnut.com/l/_yQ2kdavHPrPr


Watch Video Solution

9. Find a point on y-axis which is equidistant

from the points  and 
.

Watch Video Solution

(5,   − 2) ( − 3,  2)

10. Find the point on Y-axis which is

equidistant from the points

A. (0, -7)

( − 5, 2) and (9, − 2).

https://dl.doubtnut.com/l/_yQ2kdavHPrPr
https://dl.doubtnut.com/l/_rDBgldlDSfzR
https://dl.doubtnut.com/l/_buREWX2vIUpe


B. (0, 7)

C. (0, -5)

D. (0, 5)

Answer: A

Watch Video Solution

11. Find the coordinates of the point

equidistant from three given points

 and 

Watch Video Solution

A(5, 1), B( − 3, − 7) C(7, − 1).

https://dl.doubtnut.com/l/_buREWX2vIUpe
https://dl.doubtnut.com/l/_kr2Dss1UGLaC


12. Points 
and 
lie on a circle

with centre 
Find the values of 

Hence, find the radius of the circle.

A. 2 units

B. 3 units

C. 4 units

D. 5 units

Answer: D

A( − 1, y) B(5, 7)

O(2, − 3y). y.

https://dl.doubtnut.com/l/_kr2Dss1UGLaC
https://dl.doubtnut.com/l/_jeXIS7i1orS4


Watch Video Solution

13. Find the
 centre of the circle passing

through 
and 
.

A. (3, 1)

B. (-3, -1)

C. (-3, 1)

D. (3, -2)

Answer: D

Watch Video Solution

(6,   − 6),  (3,   − 7) (3,  3)

https://dl.doubtnut.com/l/_jeXIS7i1orS4
https://dl.doubtnut.com/l/_fi06BwHbxTJq


14. The points A(4, 7), B(p, 3) and C(7, 3) are the

vertices of a right triangle, right-angled at
 B,

Find the values of p.

A. 7

B. 3

C. 5

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fi06BwHbxTJq
https://dl.doubtnut.com/l/_Qr1vnQWvNsAB


15. Show that the points 

and 
 are the vertices of an

equilateral triangle. Also, find its area.

Watch Video Solution

(a, a), ( − a, − a)

( − √3a, √3a)

16. Find the circumcenter of the triangle

formed by the points 
and

A. (1,-3)

( − 3,  0),  (1,   − 3)

(4,  1)

https://dl.doubtnut.com/l/_Qr1vnQWvNsAB
https://dl.doubtnut.com/l/_S5R1ptNuBH94
https://dl.doubtnut.com/l/_GR6mPZwS5nmX


B. (-3,0)

C. 

D. 

Answer: C

Watch Video Solution

( , )
1

2

1

2

( , )
1

3

1

3

17. Show that the points (1, 1), (-1, 5), (7, 9) and

(9, 5) taken in that order are the vertices of a

rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_GR6mPZwS5nmX
https://dl.doubtnut.com/l/_RhxyIzEtSyra


18. Show that the points A(3, 5), B(6, 0), C(1, -3)

and D(-2, 2) are the vertices of a square ABCD.

Watch Video Solution

19. If 
 and 


be four
points in a plane, show

that 
 is a
 rhombus but not a square.

Find the area of the rhombus.

Watch Video Solution

P (2,   − 1),   Q(3,  4),   R( − 2,  3)

S( − 3,   − 2)

PQRS

https://dl.doubtnut.com/l/_RhxyIzEtSyra
https://dl.doubtnut.com/l/_rZ5NNgVKvHbD
https://dl.doubtnut.com/l/_5UfQmjY5KPY8


20. Prove that points A (1, 1), B (– 2, 7) and C (3,

– 3) are collinear.

Watch Video Solution

21. Find the coordinates of the point which

divides the line segment joining the points

A(4, -3) and B(9, 7) in the ratio: 3:2.

Watch Video Solution

https://dl.doubtnut.com/l/_5UfQmjY5KPY8
https://dl.doubtnut.com/l/_jQl9LVKqKqlx
https://dl.doubtnut.com/l/_g1AhS7jwkynY
https://dl.doubtnut.com/l/_mRO7693ut8mE


22. Find the coordinates of the midpoint of

the line segment joining the points A(-5, 4)

and B(7, -8).

A. (-1, 2)

B. (1, -2)

C. (2, -4)

D. (1, 1)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mRO7693ut8mE
https://dl.doubtnut.com/l/_f8LwlRAfqMFN


23. Find the coordinates of the points of

trisection of the line segment joining the

points A(-5, 6) and B(4, -3).

Watch Video Solution

24. Find the co-ordinates of a point P on the

line segment joining 

such that 

A. 

B. 

A(1, 2) and B(6, 7)

AP = AB.
2

5

(3, 4)

(5, 4)

https://dl.doubtnut.com/l/_f8LwlRAfqMFN
https://dl.doubtnut.com/l/_rRYcuPw9MBCo


C. 

D. 

Answer: A

Watch Video Solution

(7, 4)

(3, 5)

25. Point P divides the line segment joining the

points  and
  such that

AP/AB=1/3. If P lies on the line

 find the
value of k.

A(2, 1) B(5, − 8)

2x − y + k = 0,

https://dl.doubtnut.com/l/_rRYcuPw9MBCo
https://dl.doubtnut.com/l/_vEZg8C66noXQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−7

−8

−9

−11

26. In what ratio does the point P(2, -5) divide

the line segment joining A(-3, 5) and B(4, -9)?

https://dl.doubtnut.com/l/_vEZg8C66noXQ
https://dl.doubtnut.com/l/_caJieI4elCdq


Watch Video Solution

27. Find the ratio in which the point 

divides the line segment joining the points

. Also find the value

of .

Watch Video Solution

P (x, 2)

A(12, 5) and B(4, − 3)

x

28. Find the ratio in which the point P (11,y)

divides the line segment joining the points

https://dl.doubtnut.com/l/_caJieI4elCdq
https://dl.doubtnut.com/l/_CiqQ8gbXW4Jv
https://dl.doubtnut.com/l/_TnqN4qaD7LmF


 Also find the value of

y.

Watch Video Solution

A(15, 5) and B(9, 20).

29. If the point 
 divides internally

the line segment joining 
 and 
 in

ratio 3:4, find the coordinates of B.

Watch Video Solution

C( − 1, 2)

A(2, 5) B

https://dl.doubtnut.com/l/_TnqN4qaD7LmF
https://dl.doubtnut.com/l/_EaSQsh3qXWoG


30. Find the lengths of the medians of a 

whose vertices are 
 and 


.

Watch Video Solution

ABC

A(7,   − 3),   B(5,  3)

C(3,   − 1)

31. The three vertices of a parallelogram ABCD

taken in order are A(3, -4), B(-1, -3) and C(-6, 2).

Find the coordinates of the fourth vertex D.

Watch Video Solution

https://dl.doubtnut.com/l/_dURtZX1XFXHF
https://dl.doubtnut.com/l/_l75juL9FHjTf
https://dl.doubtnut.com/l/_wPbn5yDTBhQR


32. If (3, 3), (6, y), (x, 7) and (5, 6) are the

vertices of a parallelogram taken in order, find

the value of x and y.

Watch Video Solution

33. Let D(3, -2), E(-3, 1) and F(4, -3) be the

midpoints of the sides BC, CA and AB

respectively of . Then, find the

coordinates the vertices A, B and C.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_wPbn5yDTBhQR
https://dl.doubtnut.com/l/_OHK91LIESF8X


34. The coordinates of one end point of a

diameter of a circle are 
 and the

coordinates of the centre of the circle are


 . Find the coordinates of the other

end of the diameter.

Watch Video Solution

(4, − 1)

(1, − 3)

35. Find the centroid of  whose vertices

are A(-3, 0), B(5, -2), and C(-8, 5).

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_Hqw4crnxmFP3
https://dl.doubtnut.com/l/_PkTn1n9r346u


36. Two vertices of a  are given by A(6,

4) and B(-2, 2), and its centroid is G(3, 4). Find

the coordinates of the third vertex C of

.

Watch Video Solution

ΔABC

ΔABC

37. Find the area of  whose vertices are

A(2, 7), B(3, -1) and C(-5, 6).

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_PkTn1n9r346u
https://dl.doubtnut.com/l/_ZR2VIvei4lV5
https://dl.doubtnut.com/l/_u16655TpLo8R


38. Find the values of k so that the area of the

triangle with vertices (1, -1), (-4, 2k) and
 (-k, -5)

is 24 sq. units.

Watch Video Solution

39. If 
 are

the vertices of 
then verify the fact that

a median of a triangle ABC divides it into two

triangles of equal areas.

Watch Video Solution

A(4, − 6), B(3, − 2)andC(5, 2)

ABC,

https://dl.doubtnut.com/l/_csfagU2FnpAT
https://dl.doubtnut.com/l/_vHXfzZQt2vWl


40. Find the area of the triangle formed by

joining the midpoints of the sides of the

triangle whose vertices are A(2, 2), B(4, 4) and

C(2, 6).

Watch Video Solution

41. Find the area of a quadrilateral ABCD

whose vertices are A(-4, 8), B(-3, -4), C(0, -5) and

D(5, 6).

Watch Video Solution

https://dl.doubtnut.com/l/_vHXfzZQt2vWl
https://dl.doubtnut.com/l/_Vr2b3UZmcQMr
https://dl.doubtnut.com/l/_k55dxSLPmLd8


42. Find the area of a parallelogram 
 if

three of its vertices are


and 
.

A. 

B. 

C. 

D. 

Answer: A

ABCD

A(2,  4),  B(2 + √3,  5) C(2,  6)

(2√3)

(3√4)

(4√5)

(6√5)

https://dl.doubtnut.com/l/_k55dxSLPmLd8
https://dl.doubtnut.com/l/_Sx5gdfd30VUp


Watch Video Solution

43. If the
 points


 and 


 are the vertices of

parallelogram 
, then
taking 
as the

base, find the height of the parallelogram.

Watch Video Solution

A(1,   − 2),   B(2,  3),   C( − 3,  2)

D( − 4,   − 3)

ABCD AB

44. Show that the points A(-1, 1), B(5, 7) and

C(8, 10) are collinear.

https://dl.doubtnut.com/l/_Sx5gdfd30VUp
https://dl.doubtnut.com/l/_VB8Ql7DLTghR
https://dl.doubtnut.com/l/_ZPRAnoaZH6NA


Watch Video Solution

45. Show that points , , 

are collinear.

Watch Video Solution

A(a, b + c) B(b, c + a)

C(c, a + b)

46. If the area of  with vertices 

 is 6 square

units, then prove that x + y = 15 or x + y + 9=0.

Watch Video Solution

ΔABC

A(x, y), B(1, 2) and C(2, 1)

https://dl.doubtnut.com/l/_ZPRAnoaZH6NA
https://dl.doubtnut.com/l/_7tygFwxkn4IF
https://dl.doubtnut.com/l/_xxyprE62rWqe


47. Find the value of k for which the points

A(k+1, 2k), B(3k, 2k +3) and C(5k-1, 5k) are

collinear.

Watch Video Solution

48. If the
 points 
 and 


are
collinear and 
 , find

the
values of 
and 
.

Watch Video Solution

A( − 1,   − 4),   B(b,  c)

C(5,   − 1) 2b + c = 4

b c

https://dl.doubtnut.com/l/_xxyprE62rWqe
https://dl.doubtnut.com/l/_CZpBzeiWkBhZ
https://dl.doubtnut.com/l/_0EGA7BKSDoH0


Exercise 6 A

49. If 
 is a point on the line segment

joining the points 
 then

prove that 

Watch Video Solution

R(x, y)

P (a, b)andQ(b, a),

x + y = a + b

1. Find the distance between the points : 

(i) A(9, 3) and B(15, 11) (ii) A(7, -4) and B(-5, 1) 

(iii) A(-6, -4) and B(9, -12) (iv) A(1, -3) and B(4, -6) 

https://dl.doubtnut.com/l/_39TXT3vfFxrN
https://dl.doubtnut.com/l/_oaViuvI0nnCY


(v) P(a+b, a-b) and Q(a-b, a+b) 

(vi) P(a sin , a cos ) and Q (a cos , -a sin )

Watch Video Solution

α α α α

2. Find the distance of each of the following

points from the origin: 

(i) A (5, -12) (ii) B(-5, 5) (iii) C(-4, -6).

Watch Video Solution

https://dl.doubtnut.com/l/_oaViuvI0nnCY
https://dl.doubtnut.com/l/_fqMuNn1PhiC2


3. Find all possible values of x for which for

distance between the points A(x, -1) and B(5, 3)

is 5 units.

Watch Video Solution

4. Find the
 values of 
 for which
 the distance

between the points 
 and 

is 10
units.

Watch Video Solution

y

P (2,   − 3) Q(10,  y)

https://dl.doubtnut.com/l/_LSBcsnDNXRSH
https://dl.doubtnut.com/l/_OGRkB2Ne55fm
https://dl.doubtnut.com/l/_vvsGjft7TiK2


5. Find the values of x for which the distance

between the points P(x, 4) and Q(9, 10) is 10

units.

Watch Video Solution

6. If the point A(x, 2) is equidistant from the

points B(8, -2) and C(2, -2), find the value of x.

Also, find the length of AB.

Watch Video Solution

https://dl.doubtnut.com/l/_vvsGjft7TiK2
https://dl.doubtnut.com/l/_PJJgn6b4Pst3
https://dl.doubtnut.com/l/_pToII1yFXPVu


7. If the
point 
 is
equidistant from the

points 
and 
, find 
 . Also,
 find

the length of 
.

Watch Video Solution

A(0,  2)

B(3,  p) C(p,  5) p

AB

8. Find the
point on x-axis which is equidistant

from the points 
and 
.

Watch Video Solution

( − 2,  5) (2,   − 3)

https://dl.doubtnut.com/l/_pToII1yFXPVu
https://dl.doubtnut.com/l/_NBpLyNZ47rkz


9. Find points on the x-axis, each of which is at

a distance of 10 units from the point A(11, -8).

Watch Video Solution

10. Find the point on the y-axis which is

equidistant from the points A(6, 5) and B(-4, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_hfP6JwH6sMbA
https://dl.doubtnut.com/l/_AhFqmklEMrAN


11. If the point P(x, y) is equidistant from the

points A(5, 1) and B(-1,5), prove that 3x = 2y.

Watch Video Solution

12. If P(x, y) is a point equidistant from the

points A(6, -1) nad B(2, 3), show that x-y - 3.

Watch Video Solution

https://dl.doubtnut.com/l/_XdGPmZtB1rqB
https://dl.doubtnut.com/l/_53rmZgwKD4vZ


13. Find the coordinates of the point

equidistant from three given points A(5, 3),

B(5, -5) and C(1, -5)`

Watch Video Solution

14. If the points A(4, 3) and B(x, 5) lie on a circle

with the centre O(2, 3), find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_dvWH6UUzYDds
https://dl.doubtnut.com/l/_YIa9YyDLCZJU


15. If the point C(-2, 3) is equidistant from the

points A(3, -1) and B(x, 8), find the values of x.

Also, find the distance BC.

Watch Video Solution

16. If the point P(2, 2) is equidistant from the

points A(-2, k) and B(-2k, -3), find k. Also, find

the length of AP.

Watch Video Solution

https://dl.doubtnut.com/l/_yHdTVYy5kk3J
https://dl.doubtnut.com/l/_8GbxMCnm6MQ3
https://dl.doubtnut.com/l/_VBghOoroaTIE


17. (i) If the point (x, y) is equidistant from the

points (a+b, b-a) and (a-b, a+b), prove that bx =

ay. 

(ii) If the distances of P(x, y) from A(5, 1) and

B(-1, 5) are equal then prove that 3x =2y.

Watch Video Solution

18. Using the distance formula, show that the

given points are collinear. 

(i) (1, -1), (5, 2) and (9, 5) (ii) (6, 9), (0, 1) and (-6,

-7) 

https://dl.doubtnut.com/l/_VBghOoroaTIE
https://dl.doubtnut.com/l/_ulxOCERucB7e


(iii) (-1, -1), (2, 3) and (8, 11) (iv) (-2, 5), (0, 1) and

(2, -3).

Watch Video Solution

19. Show that the points A(7, 10), B(-2, 5) and

C(3, -4) are the vertices of an isosceles right

triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_ulxOCERucB7e
https://dl.doubtnut.com/l/_7Z6zRvNC5XkA


20. Show that the points A(3, 0), B(6, 4) and

C(-1, 3) are the vertices of an isosceles right

triangle.

Watch Video Solution

21. If A(5, 2), B(2, -2) and C(-2, t) are the vertices

of a right triangle with  then find

the value of t.

Watch Video Solution

∠B = 90∘

https://dl.doubtnut.com/l/_ECNhB9gntMSB
https://dl.doubtnut.com/l/_QHY6DV8ayCcS
https://dl.doubtnut.com/l/_cgzAH8ADS6EM


22. Prove that the points A(2, 4), B(2, 6) and C(2

+ , 5) are the vertices of an equilateral

triangle.

Watch Video Solution

√3

23. Show that the points (-3, -3), (3, 3) and

 are the vertices of an

equilateral triangle.

Watch Video Solution

( − 3√3, 3√3)

https://dl.doubtnut.com/l/_cgzAH8ADS6EM
https://dl.doubtnut.com/l/_Au6kDNCHwTko
https://dl.doubtnut.com/l/_Khdq5ogm5epY


24. The points A(-5, 6), B(3, 0) and C(9, 8) are

the vertices of an isosceles right-angled

triangle. Calculate its area.

A. 30

B. 50

C. 100

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Khdq5ogm5epY
https://dl.doubtnut.com/l/_ippd3YU4hUe3


25. Show that the points O(0, 0),

 are the vertices

of an equilateral triangle. Find the area of this

triangle.

Watch Video Solution

A(3, √3)and B(3, − √3)

26. Show that the following points are the

vertices of a square: 

(i) A(3, 2), B(0, 5), C(-3, 2) and D(0, -1) 

(ii) A(6, 2), B(2, 1), C(1, 5) and D(5, 6) 

(iii) A(0, -2), B(3, 1), C(0, 4) and D(-3, 1)

https://dl.doubtnut.com/l/_ippd3YU4hUe3
https://dl.doubtnut.com/l/_3K4wZPqsH5NL


Watch Video Solution

27. Show that the points A(-3, 2), B(-5, -5), C(2,

-3) and D(4, 4) are the vertices of a rhombus.

Find the area of this rhombus.

Watch Video Solution

28. Show that the points A(3, 0), B(4, 5), C(-1, 4)

and D(-2, -1) are the vertices of a rhombus. Find

its area.

https://dl.doubtnut.com/l/_3K4wZPqsH5NL
https://dl.doubtnut.com/l/_nsjOJ0tCOToC
https://dl.doubtnut.com/l/_1ZlvXMnAjJQH


Watch Video Solution

29. Show that the points A(6, 1), B(8, 2), C(9, 4)

and D(7, 3) are the vertices of a rhombus. Find

its area.

A. 6 sq units

B. 3 sq units

C. 3/2 sq units

D. 1 sq units

Answer: B

https://dl.doubtnut.com/l/_1ZlvXMnAjJQH
https://dl.doubtnut.com/l/_FruWWWNzdUt0


Watch Video Solution

30. Show that the points A(2, 1), B(5, 2), C(6, 4)

and D(3, 3) are the angular points of a

parallelogram. Is this figure a rectangle?

Watch Video Solution

31. Show that A(1, 2), B(4, 3), C(6, 6) and D(3, 5)

are the vertices of a parallelogram. Show that

ABCD is not a rectangle.

https://dl.doubtnut.com/l/_FruWWWNzdUt0
https://dl.doubtnut.com/l/_4CrVLsCrlazV
https://dl.doubtnut.com/l/_a6ByyX6DKJlJ


Watch Video Solution

32. Show that the following points are the

vertices of a rectangle. 

(i) A(-4, -1), B(-2, -4), C(4, 0) and D(2, 3) 

(ii) A(2, -2), B(14, 10), C(11, 13) and D(-1, 1) 

(iii) A(0, -4), B(6, 2), C(3, 5) and D(-3, -1)

Watch Video Solution

33. Show that  with vertices A(-2, 0),

B(0, 2) and C(2, 0) is similar to  with

ΔABC

ΔDEF

https://dl.doubtnut.com/l/_a6ByyX6DKJlJ
https://dl.doubtnut.com/l/_V5XyCEKa4OHE
https://dl.doubtnut.com/l/_yXnRvp7iVwud


Exercise 6 B

vertices D(-4, 0), F(4, 0) and E(0, 4).

Watch Video Solution

34. Show that , where 

where  are

similar triangles.

Watch Video Solution

ΔABC

A( − 2, 0), B(2, 0), C(0, 2) and ΔPQR

P ( − 4, 0), Q(4, 0) and R(0, 4)

https://dl.doubtnut.com/l/_yXnRvp7iVwud
https://dl.doubtnut.com/l/_DdwS8QDDvRuR
https://dl.doubtnut.com/l/_h0PsD7AZAzh5


1. Find the coordinates of the point which

divides the join of  and 

in the ratio 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A( − 1, 7) B(4, − 3)

2: 3.

( , )
10

3

−20

3

(2, )
8

3

(3, 1)

(1, 3)

https://dl.doubtnut.com/l/_h0PsD7AZAzh5


2. Find the coordinates of the points of

trisection of the line segment joining the

points A(7, -2) and B(1, 5).

Watch Video Solution

3. If the coordinates of points A and B are (-2,

-2) and (2, -4) respectively, find the coordinates

of the point P such that , where P

lies on the line segment AB.

Watch Video Solution

AP = AB
3

7

https://dl.doubtnut.com/l/_5YcDVQoL8tg2
https://dl.doubtnut.com/l/_WjxuRItwyoQV


4. Point A lies on the line segment PQ joining

P(6, -6) and Q(-4, -1) in such a way that

. If the point A also lies on the line

3x+k(y+1) = 0, find the value of k.

Watch Video Solution

=
PA

PQ

2

5

5. Points P, Q, R and S divide the line segment

joining the points A(1, 2) and B(6, 7) in five

equal parts. Find the coordinates of the point

P.

https://dl.doubtnut.com/l/_WjxuRItwyoQV
https://dl.doubtnut.com/l/_245DR6NoJVep
https://dl.doubtnut.com/l/_3muNEiwQ1mRp


A. P(3, 4)

B. P(4, 5)

C. P(2, 3)

D. P(2, 1)

Answer: C

Watch Video Solution

6. Points P, Q and R in that order are dividing a

line segment joining A(1, 6) and B(5, -2), in four

equal parts. Find the coordinates of P, Q and R.

https://dl.doubtnut.com/l/_3muNEiwQ1mRp
https://dl.doubtnut.com/l/_EeG6dR00HzmG


Watch Video Solution

7. The line segment joining the points A(3, -4)

and B(1, 2) is trisected at the points P(p, -2)

and . Find the values of p and q.

Watch Video Solution

Q( , q)
5

3

8. Find the coordinates of the midpoint of the

line segment joining 

(i) A(3, 0) and B(-5, 4) (ii) P(-11, -8) and Q(8, -2).

https://dl.doubtnut.com/l/_EeG6dR00HzmG
https://dl.doubtnut.com/l/_lVAqai9By1Yr
https://dl.doubtnut.com/l/_pobfYwRPsMBn


Watch Video Solution

9. If  is the midpoint of the line segment

joining the points  and ,

find the value of p.

A. p = 3

B. p = 5

C. p = -2

D. p = 8

Answer: A

(2, p)

A(6, − 5) B( − 2, 11)

https://dl.doubtnut.com/l/_pobfYwRPsMBn
https://dl.doubtnut.com/l/_lCmCst3nkFfj


Watch Video Solution

10. The midpoint of the line segment joining

A(2a, 4) and B(-2, 3b) is C(1, 2a+1). Find the

values of a and b.

Watch Video Solution

11. The line segment joining A(-2, 9) and B(6, 3)

is a diameter of a circle with centre C. Find the

coordinates of C.

https://dl.doubtnut.com/l/_lCmCst3nkFfj
https://dl.doubtnut.com/l/_gwtlWv255lij
https://dl.doubtnut.com/l/_WHs5C5V41RhT


Watch Video Solution

12. Find the coordinates of a point A, where AB

is a diameter of a circle with centre C(2, -3) and

the other end of the diameter is B(1, 4).

Watch Video Solution

13. In what ratio does the point  divide

the join of  and ?

Watch Video Solution

P (2, 5)

A(8, 2) B( − 6, 9)

https://dl.doubtnut.com/l/_WHs5C5V41RhT
https://dl.doubtnut.com/l/_w8yZVSrml1QE
https://dl.doubtnut.com/l/_ky7446iYpiRK


14. Find the ratio in which the point

 divides the line segment joining

the points  and B(2, -5).

Watch Video Solution

P( , )
3

4

5

12

A( , )
1

2

3

2

15. Find the ratio in which the point 

divides the join of  and .

Also, find the value of .

A. 

P (m, 6)

A( − 4, 3) B(2, 8)

m

−2

5

https://dl.doubtnut.com/l/_RW6YQcBpWt1E
https://dl.doubtnut.com/l/_xRK0bHicPgPP


B. 

C. 

D. Nome of these

Answer: A

Watch Video Solution

2

5

−2

16. Find the ratio in which the point (-3, k)

divides the join of A(-5, -4) and B(-2, 3). Also,

find the value of k.

Watch Video Solution

https://dl.doubtnut.com/l/_xRK0bHicPgPP
https://dl.doubtnut.com/l/_zNdEdU6hhZ0z


17. In what ratio is the line segment joining

A(2, -3) and B(5, 6) divided by the x-axis? Also,

find the coordinates of the point of division.

Watch Video Solution

18. In what ratio is the line segment joining

the points A(-2, -3) and B(3, 7) divided by the y-

axis? Also, find the coordinates of the point of

division.

https://dl.doubtnut.com/l/_zNdEdU6hhZ0z
https://dl.doubtnut.com/l/_2756cK1BScYn
https://dl.doubtnut.com/l/_jMO1ltiefP5S


Watch Video Solution

19. In what ratio does the line x - y - 2= 0 divide

the line segment joining the points A(3, -1) and

B(8, 9)?

Watch Video Solution

20. Find the lengths of the medians of a

 whose vertices are A(0, -1), B(2, 1) and

C(0, 3).

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_jMO1ltiefP5S
https://dl.doubtnut.com/l/_52NI4Ycb2sgJ
https://dl.doubtnut.com/l/_zI03UaqbvymH


21. Find the centroid of  whose vertices

are A(-1, 0), B(5, -2) and C(8, 2).

Watch Video Solution

ΔABC

22. If G(-2, 1) is the centroid of a  and

two of its vertices are A(1, -6) and B(-5, 2), find

the third vertex of the triangle.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_zI03UaqbvymH
https://dl.doubtnut.com/l/_GOY6Yl0Zjg37
https://dl.doubtnut.com/l/_C2I89Ayj7UJ7


23. Find the third vertex of a  if two of

its vertices are B(-3, 1) and C(0, -2), and its

centroid is at the origin.

Watch Video Solution

ΔABC

24. Show that the points A(3, 1), B(0, -2), C(1, 1)

and D(4, 4) are the vertices of a parallelogram

ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_qhFT9b8UsC8e
https://dl.doubtnut.com/l/_jmfq2j7aRDUE
https://dl.doubtnut.com/l/_dNHPID9nGn8b


25. If the points P(a, -11), Q(5, b), R(2, 15) and

S(1, 1) are the vertices of a parallelogram PQRS,

find the values of a.

A. 5

B. 3

C. 4

D. 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dNHPID9nGn8b
https://dl.doubtnut.com/l/_DAZEIs05zz81


26. If three
 consecutive vertices of a

parallelogram are 
 and 


, find its
fourth vertex.

Watch Video Solution

(1,   − 2),  (3,  6)

(5,  10)

27. In what ratio does y-axis divide the line

segment joining the points (-4, 7) and (3, -7)?

Watch Video Solution

https://dl.doubtnut.com/l/_DAZEIs05zz81
https://dl.doubtnut.com/l/_vg2Bjtea9HSn


28. If the point  lies on the line

segment joining the points A(3, -5) and B(-7, -9)

the find the ratio in which P divides AB. Also,

find the value of y.

Watch Video Solution

P( , y)
1

2

29. Find the ratio in which the line segment

joining the points A(3, -3) and B(-2, 7) is divided

by x-axis. Also, find the point of division.

Watch Video Solution

https://dl.doubtnut.com/l/_IsUPBTmQzeb2
https://dl.doubtnut.com/l/_6H9rBYwwHDzZ


30. The base  of an equilateral triangle

 lies on -axis. The coordinates of the

point  are  and origin is the

midpoint of the base. Find the coordinates of

the points  and .

A. 

B. 

C. 

D. 

QR

PQR x

Q ( − 4, 0)

P R

P(0, 5√4)orP(0, − 5√4) and R(3, 2)

P(0, 4√3)orP(0, − 4√3) and R(4, 0)

P(0, 3√2)orP(0, − 3√2) and R(3, 1)

P(0, 2√5)orP(0, − 2√5) and R(3, 5)

https://dl.doubtnut.com/l/_6H9rBYwwHDzZ
https://dl.doubtnut.com/l/_MzoqflvfF7DU


Answer: B

Watch Video Solution

31. The base BC of an equilateral triangle ABC,

lies on y-axis. The coordinates of point C are

(0, -3). The origin is the midpoint of the base. 

Find the coordinates of the points A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_MzoqflvfF7DU
https://dl.doubtnut.com/l/_tIo6KzTIKwH0


32. Find the ratio in which the point P(-1, y)

lying on the line segment joining points A(-3,

10) and B(6, -8) divides it. Also, find the value of

y.

Watch Video Solution

33. ABCD is rectangle formed by the points

A(-1, -1), B(-1, 4), C(5, 4) and D(5, -1). If P, Q, R and

S be the midpoint of AB, BC, CD and DA

respectively, show that PQRS is a rhombus.

https://dl.doubtnut.com/l/_7d7i5FbaHnOj
https://dl.doubtnut.com/l/_cMYfVwof9YoI


Watch Video Solution

34. The midpoint P of the line segment joining

the points A(-10, 4) and B(-2, 0) lies on the line

segment joining the points C(-9, -4) and D(-4,

y). Find the ratio in which P divides CD. Also

find the value of y.

Watch Video Solution

35. A line intersects the Y- axis at the points P

and Q,, respectively. If (2,-5) is the mid- point of

https://dl.doubtnut.com/l/_cMYfVwof9YoI
https://dl.doubtnut.com/l/_RRY328HbIBa8
https://dl.doubtnut.com/l/_zt3J7UshLGPs


PQ , then the coordinates of P and Q are ,

respectively

Watch Video Solution

36. In what ratio does the point 

divide the line segment joining the points

? Also find the value of

.

A. 

B. 

( , y)
24
11

P (2, − 2) and Q(3, 7)

y

2: 8; y = −
9

11

2: 9; y = −
4
11

https://dl.doubtnut.com/l/_zt3J7UshLGPs
https://dl.doubtnut.com/l/_xj4qUCaHdlTB


C. 

D. 

Answer: B

Watch Video Solution

5: 9; y = −
3

11

1: 9; y = −
7
11

37. The midpoints of the sides BC, CA and AB of

a  are D(3, 4), E(8, 9) and F(6, 7)

respectively. Find the coordinates of the

vertices of the triangle.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_xj4qUCaHdlTB
https://dl.doubtnut.com/l/_esd8mmyWsmpp


Exercise 6 C

38. If two vertices of a parallelogram are


 and the diagonals cut at 


 , find the other vertices of the

parallelogram.

Watch Video Solution

(3,  2),  ( − 1,  0)

(2,   − 5)

https://dl.doubtnut.com/l/_esd8mmyWsmpp
https://dl.doubtnut.com/l/_IITGOh9G8j9G


1. Find the area of  whose vertices are :

(i) A(1, 2), B (-2, 3) and C(-3, -4) 

(ii) A(-5, 7), B(-4, -5) and C(4, 5) 

(iii) A(3, 8), B(-4, 2) and C(5, -1) 

(iv) A(10, -6), B(2, 5) and C(-1, 3)

Watch Video Solution

ΔABC

2. Find the are of quadrilateral ABCD whose

vertices are A(3, -1), B(9, -5), C(14, 0) and D(9,

19).

https://dl.doubtnut.com/l/_PzcaMhplkOXx
https://dl.doubtnut.com/l/_22KNfwtw3FlD


Watch Video Solution

3. If

and 
are the
vertices of a quadrilateral 


, find its
area.

Watch Video Solution

P ( − 5,   − 3),  Q( − 4,   − 6),  R(2,   − 3)

S(1,  2)

PQRS

4. Find the area of quadrilateral ABCD whose

vertices are A(-3, -1), B(-2, -4), C(4, -1) and D(3, 4).

Watch Video Solution

https://dl.doubtnut.com/l/_22KNfwtw3FlD
https://dl.doubtnut.com/l/_wOxDA9PPF8Xl
https://dl.doubtnut.com/l/_Duwin16f0plp


5. If A(-7, 5), B(-6, -7), C(-3, -8) and D(2, 3) are the

vertices of a quadrilateral ABCD then find the

area of the quadrilateral.

Watch Video Solution

6. Find the area of the triangle formed by

joining the midpoints of the sides of the

triangle whose vertices are A(2, 1), B(4, 3) and

C(2, 5).

https://dl.doubtnut.com/l/_Duwin16f0plp
https://dl.doubtnut.com/l/_21mhnL5AFIM3
https://dl.doubtnut.com/l/_txtg1xwFvwkc


Watch Video Solution

7. A(7, -3), B(5, 3) and C(3, -1) are the vertices of

a  and AD is its median. Prove that the

median AD divides  into two triangles

of equal areas.

Watch Video Solution

ΔABC

ΔABC

8. Find the area of  with 

and midpoints of sides through  being

 and 

ΔABC A(1, − 4)

A

(2, − 1) (0, − 1).

https://dl.doubtnut.com/l/_txtg1xwFvwkc
https://dl.doubtnut.com/l/_36v1aiOiDVhb
https://dl.doubtnut.com/l/_xGFqiCSqG36k


A.  sq units

B.  sq units

C.  sq units

D.  sq units

Answer: D

Watch Video Solution

19

14

13

12

9. A(6, 1), B(8, 2) and C(9, 4) are the vertices of a

parallelogram ABCD. If E is the midpoint of DC,

find the area of .ΔADE

https://dl.doubtnut.com/l/_xGFqiCSqG36k
https://dl.doubtnut.com/l/_heXcsmurpSxx


Watch Video Solution

10. (i) If the vertices of  be A(1, -3), B(4,

p) and C(-9, 7) and its area is 15 square units,

find the value of p. 

(ii) The area of a triangle is 5 sq units. Two of

its vertices are (2, 1) and (3, -2). If the third

vertex is , find the value of y

Watch Video Solution

ΔABC

( , y)
7
2

https://dl.doubtnut.com/l/_heXcsmurpSxx
https://dl.doubtnut.com/l/_tDsR1F2weM19


11. Find the value of k so that the area of the

triangle with vertices A(k+1, 1), B(4, -3) and C(7,

-k) is 6 square units.

Watch Video Solution

12. For what value of  is the area of

the triangle with vertices (-2, 5), (k, -4) and (2k

+1, 10) equal to 53 square units?

Watch Video Solution

k(k > 0)

https://dl.doubtnut.com/l/_nll8kVDExSTc
https://dl.doubtnut.com/l/_ftk5v1gxMSq4
https://dl.doubtnut.com/l/_ZbCKkEGltixc


13. Show that the following points are

collinear: 

(i) A(2, -2), B(-3, 8) and C(-1, 4) 

(ii) A(-5, 1), B(5, 5) and C(10, 7) 

(iii) A(5, 1), B(1, -1) and C(11, 4) 

(iv) A(8, 1), B(3, -4) and C(2, -5)

Watch Video Solution

14. Find the value of x for which the points A(x,

2), B(-3, -4) and C(7, -5) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_ZbCKkEGltixc
https://dl.doubtnut.com/l/_olBY7x8uWKV1


15. For what value of x are the points A(-3, 12),

B(7, 6) and C(x, 9) collinear?

Watch Video Solution

16. For what value of y are the points P(1, 4),

Q(3, y) and R(-3, 16) are collinear?

Watch Video Solution

https://dl.doubtnut.com/l/_olBY7x8uWKV1
https://dl.doubtnut.com/l/_4P6L7OjELFNp
https://dl.doubtnut.com/l/_oHKCEvLB09VU


17. Find the value of y for which the points A(-3,

9), B(2, y) and C(4, -5) are collinear.

Watch Video Solution

18. For what values of k are the points A(8, 1),

B(3, -2k) and C(k, -5) collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_zBMJDqJilfoz
https://dl.doubtnut.com/l/_Yksf8c2dd4zJ


19. Find a relation between x and y, if the

points A(2, 1), B(x, y) and C(7, 5) are collinear.

Watch Video Solution

20. Find a relation between x and y, if the

points A(x, y), B(-5, 7) and C(-4, 5) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_mk9PbFJ351tO
https://dl.doubtnut.com/l/_usziiEM8iytU


21. Prove that the points A(a, 0), B(0, b) and C(1,

1) are collinear, if 

Watch Video Solution

+ = 1.
1

a

1

b

22. If the points P(-3, 9), Q(a, b) and R(4, -5) are

collinera and a+b = 1, find the values of a and

b.

Watch Video Solution

https://dl.doubtnut.com/l/_KEKgi6W57uRB
https://dl.doubtnut.com/l/_062osSQSK9c5


23. Find the area of  with vertices A(0,

-1), B(2, 1) and C(0, 3). Also, find the area of the

triangle formed by joining the midpoints of its

sides. 

Show that the ratio of the areas of two

triangles is 4:1.

Watch Video Solution

ΔABC

24. If

a ≠ b ≠ c, prove that(a, a2), (b, b2), (0, 0)

https://dl.doubtnut.com/l/_sY60y6DSJCJJ
https://dl.doubtnut.com/l/_NBTokh9jlNK1


Exercise 6 D

will not be collinear.

Watch Video Solution

1. Points A(-1, y) and B(5, 7) lie on a circle with

centre O(2, -3y) . Find the values of y.

Watch Video Solution

https://dl.doubtnut.com/l/_NBTokh9jlNK1
https://dl.doubtnut.com/l/_zs1e7JQSGirt


2. If the point A(0, 2) is equidistant from the

points B(3, p) and C(p, 5), find p.

Watch Video Solution

3. ABCD is rectangle whose three vertices are

B(4, 0), C(4, 3) and D(0, 3). Find the length of

one of its diagonal.

Watch Video Solution

https://dl.doubtnut.com/l/_KuCAHO2IS6IU
https://dl.doubtnut.com/l/_aC7gOeqEH3RN


4. If the point P(k-1, 2) is equidistant from the

point A(3, k) and B(k, 5), find the values of k.

Watch Video Solution

5. Find the ratio in which the point P(x, 2)

divides the join of A(12, 5) and B(4, -3).

A. 5 : 3

B. 3 : 5

C. 1 : 3

https://dl.doubtnut.com/l/_BJ8HcZh9nL7A
https://dl.doubtnut.com/l/_T8sT91LNFtxw


D. 3 : 2

Answer: B

Watch Video Solution

6. Prove that the diagonals of a rectangle

ABCD with vertices A(2, -1), B(5, -1), C(5, 6) and

D(2, 6) are equal and bisect each other.

Watch Video Solution

https://dl.doubtnut.com/l/_T8sT91LNFtxw
https://dl.doubtnut.com/l/_eE1MrmPVWziS


7. Find the lengths of the medians AD and BE

of  whose vertices are A(7, -3), B(5, 3)

and C(3, -1).

Watch Video Solution

ΔABC

8. If the point C(k, 4) divides the join of A(2, 6)

and B(5, 1) in the ratio 2:3 then find the value

of k.

Watch Video Solution

https://dl.doubtnut.com/l/_1zUe0umJFSod
https://dl.doubtnut.com/l/_g6e7aKomRFm8
https://dl.doubtnut.com/l/_ZPOZ3noKicPu


9. Find the point on x-axis which is equidistant

from points A(-1, 0) and B(5, 0).

Watch Video Solution

10. Find the distance between the points

Watch Video Solution

( , 2)and( , 2)
−8

5

2

5

https://dl.doubtnut.com/l/_ZPOZ3noKicPu
https://dl.doubtnut.com/l/_xmN9Ez5C5A9o


11. Find the value of a so that the point (3,a)

lies on the line represented by 2x-3y=5

Watch Video Solution

12. If the points A(4, 3) and B(x, 5) lie on a circle

with the centre O(2, 3), find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_ILbJewjXsUex
https://dl.doubtnut.com/l/_GLtjDHXrGfzU


13. If P(x, y) is equidistant from the points A(7,

1) and B(3, 5), find the relation between x and y.

Watch Video Solution

14. If the centroid of  having vertices

A(a, b), B(b, c) and C(c, a) is the origin, then

find the value of (a+b+c).

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_xEcDDnM2i7Df
https://dl.doubtnut.com/l/_PRlAmLfWwyJJ


15. Find the centroid of  whose vertices

are A(2, 2), B(-4, -4) and C(5, -8).

Watch Video Solution

ΔABC

16. In what ratio does the point C(4, 5) divide

the join of A(2, 3) and B(7, 8)?

Watch Video Solution

https://dl.doubtnut.com/l/_E5b1YE60VY5M
https://dl.doubtnut.com/l/_rlDEAl4R6vFr


Multiple Choice Questions Mcq

17. If the points A(2, 3), B(4, k) and C(6, -3) are

collinear, find the value of k.

Watch Video Solution

1. The distance of the point P(-6, 8) from the

origin is

A. 8

https://dl.doubtnut.com/l/_XYjZlkBeDVQt
https://dl.doubtnut.com/l/_uoVkaPaZ0aau


B. 

C. 6

D. 10

Answer: D

Watch Video Solution

2√7

2. The distance of the point (-3, 4) from x -axis

is

A. 3

https://dl.doubtnut.com/l/_uoVkaPaZ0aau
https://dl.doubtnut.com/l/_CyO4WfQJN3Wl


B. 

C. 

D. 

Answer: C

Watch Video Solution

−3

4

5

3. The point on x-axis which is equidistant

from points A (-1, 0) and B(5, 0) is

A. (0, 2)

https://dl.doubtnut.com/l/_CyO4WfQJN3Wl
https://dl.doubtnut.com/l/_NvPXxXzDiQ6J


B. (2, 0)

C. (3, 0)

D. (0, 3)

Answer: B

Watch Video Solution

4. If R(5, 6) is the midpoint of the line segment

AB joining the points A(6, 5) and B(4, 4) then y

equals

https://dl.doubtnut.com/l/_NvPXxXzDiQ6J
https://dl.doubtnut.com/l/_QFs92JeX9l5U


A. 5

B. 7

C. 12

D. 6

Answer: B

Watch Video Solution

5. If the point C(k, 4) divides the join of A(2, 6)

and B(5, 1) in the ratio 2:3 then find the value

of k.

https://dl.doubtnut.com/l/_QFs92JeX9l5U
https://dl.doubtnut.com/l/_YbAlwh4UccuW


A. 16

B. 

C. 

D. 

Answer: C

Watch Video Solution

28

5

16

5

8

5

6. The perimeter of the triangle with vertices

(0, 4), (0, 0) and (3, 0) is

https://dl.doubtnut.com/l/_YbAlwh4UccuW
https://dl.doubtnut.com/l/_6sVlUKiv76gf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(7 + √5)

5

10

12

7. If A(1, 3), B(-1, 2), C(2, 5) and D(x, 4) are the

vertices of a parallelogram ABCD then the

value of x is

https://dl.doubtnut.com/l/_6sVlUKiv76gf
https://dl.doubtnut.com/l/_oAn8T32ioG10


A. 3

B. 4

C. 0

D. 

Answer: B

Watch Video Solution

3

2

8. If the points A(x, 2), B(-3, -4) and C(7, -5) are

collinear then the value of x is ?

https://dl.doubtnut.com/l/_oAn8T32ioG10
https://dl.doubtnut.com/l/_HzT5EO7J9ffE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−63

63

60

−60

9. The area of a triangle with vertices A(5, 0),

B(8, 0) and C(8, 4) in square units is

https://dl.doubtnut.com/l/_HzT5EO7J9ffE
https://dl.doubtnut.com/l/_UX157ZtTdCc1


A. 20

B. 12

C. 6

D. 16

Answer: C

Watch Video Solution

10. The area of  with vertices A(a, 0),

O(0, 0) and B(0, b) in square units is

ΔABC

https://dl.doubtnut.com/l/_UX157ZtTdCc1
https://dl.doubtnut.com/l/_o6ZlLNIsxI7X


A. ab

B. 

C. 

D. 

Answer: B

Watch Video Solution

ab
1

2

a2b21

2

b21

2

11. If  is the midpoint of the line

segment joining the points A(-6, 5) and B(-2, 3)

then the value of a is

P( , 4)
a

2

https://dl.doubtnut.com/l/_o6ZlLNIsxI7X
https://dl.doubtnut.com/l/_FXqcKx9zDgLO


A. 

B. 3

C. 

D. 4

Answer: A

Watch Video Solution

−8

−4

12. ABCD is a rectangle whose three vertices

are B(4, 0), C(4, 3) and D(0, 3). The length of

one of its diagonals is

https://dl.doubtnut.com/l/_FXqcKx9zDgLO
https://dl.doubtnut.com/l/_VdsGmqyn8IRb


A. 5

B. 4

C. 3

D. 25

Answer: A

Watch Video Solution

13. The coordinates of the point P dividing the

line segment joining the points A(1, 3) and B(4,

6) in the ratio 2:1 is

https://dl.doubtnut.com/l/_VdsGmqyn8IRb
https://dl.doubtnut.com/l/_0nv0HTKJx8mE


A. (2, 4)

B. (3, 5)

C. (4, 2)

D. (5, 3)

Answer: B

Watch Video Solution

14. If the coordinates of one end of a diameter

of a circle are (2, 3) and the coordinates of its

https://dl.doubtnut.com/l/_0nv0HTKJx8mE
https://dl.doubtnut.com/l/_Uh9p1oZh8R2G


centre are (-2,5), then the coordinates of the

other end of the diameter are

A. (-6, 7)

B. (6, -7)

C. (4, 2)

D. (5, 3)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Uh9p1oZh8R2G


15. In the given figure P(5, -3) and Q(3, y) are

the points of trisection of the line segment

joining A(7, -2) and B(1, -5). Then, y equals 

A. 2

B. 4

C. 

D. 

Answer: C

−4

−5

2

https://dl.doubtnut.com/l/_FVsiZ7cEaxID


Watch Video Solution

16. The midpoint of segment AB is P(0, 4). If the

coordinates of B are (-2, 3), then the

coordinates of A are

A. (2, 5)

B. (-2, -5)

C. (2, 9)

D. (-2, 11)

Answer: A

https://dl.doubtnut.com/l/_FVsiZ7cEaxID
https://dl.doubtnut.com/l/_FftTRrr2MRvf


Watch Video Solution

17. The point P which divides the line segment

joining the points A(2, 5) and B(5, 2) in the

ratio 2 : 3 lies in the quadrant

A. I

B. II

C. III

D. IV

Answer: D

https://dl.doubtnut.com/l/_FftTRrr2MRvf
https://dl.doubtnut.com/l/_3kR7ZMaw6Cv2


Watch Video Solution

18. If A(-6, 7) and B(-1, -5) are two given points

then the distance 2AB is

A. 13

B. 26

C. 169

D. 238

Answer: B

https://dl.doubtnut.com/l/_3kR7ZMaw6Cv2
https://dl.doubtnut.com/l/_rAc4GGV23hg8


Watch Video Solution

19. What point on the X-axis is equidistant

from (7, 6) and (-3, 4) ?

A. (0, 4)

B. (-4, 0)

C. (3, 0)

D. (0, 3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rAc4GGV23hg8
https://dl.doubtnut.com/l/_LayR2LtpnoYz


20. The distance of  from the x-axis is

A. 3 units

B.  units

C. 5 units

D. 1 unit

Answer: B

Watch Video Solution

P (3, 4)

4

https://dl.doubtnut.com/l/_LayR2LtpnoYz
https://dl.doubtnut.com/l/_Tp5xSi8eWJLz
https://dl.doubtnut.com/l/_DjoEDwhCHn4P


21. In what ratio does the x-axis divide the join

of A(2, -3) and B(5, 6)?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 3

3: 5

1: 2

2: 1

https://dl.doubtnut.com/l/_DjoEDwhCHn4P


22. In what ratio does the Y-axis divide the join

of  and ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 4, 2) (8, 3)

3: 1

1: 3

2: 1

1: 2

https://dl.doubtnut.com/l/_D2BBv9AuNyZP
https://dl.doubtnut.com/l/_qne3brdGunrg


23. If  is the midpoint of the line

segment joining  and 

then  = ?

A. 1

B. 

C. 2

D. 0

Answer: B

Watch Video Solution

P ( − 1, 1)

A( − 3, b) B(1, b + 4)

b

−1

https://dl.doubtnut.com/l/_qne3brdGunrg
https://dl.doubtnut.com/l/_sdOqA6tOVkg8


24. Determine the ratio in which the line

 divides the line segment

joining the points  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x + y − 4 = 0

A(2, − 2) B(3, 7).

2: 5

2: 9

2: 7

2: 3

https://dl.doubtnut.com/l/_sdOqA6tOVkg8


25. If A(4, 2), B(6, 5) and C(1, 4) be the vertices

of  and AD is a median, then the

coordinates of D are

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC

( , 3)
5

2

(5, )
7
2

( , )
7
2

9

2

https://dl.doubtnut.com/l/_hIjcsCA42Fz7


26. If A(-1, 0), B(5, -2) and C(8, 2) are the vertices

of a  then its centroid is

A. (12, 0)

B. (6, 0)

C. (0, 6)

D. (4, 0)

Answer: D

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_dYNY8uEebCD1
https://dl.doubtnut.com/l/_lNlHW3cJZvbp


27. Two vertices of  are A(-1, 4) and B(5,

2) and its centroid is G(0, -3). Then, the

coordinates of C are

A. (4, 3)

B. (4, 15)

C. (-4, -15)

D. (-15, -4)

Answer: C

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_lNlHW3cJZvbp
https://dl.doubtnut.com/l/_XV9wlHX2jbJ1


28. The points A(-4, 0), B(4, 0) and C(0, 3) are

the vertices of a triangle, which is

A. isosceles

B. equilateral

C. scalene

D. right angled

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XV9wlHX2jbJ1


29. The points P(0, 6), Q(-5, 3) and R(3, 1) are

the vertices of a triangle which is

A. equilateral

B. isosceles

C. scalene

D. right angled

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1AFznvH6Xcps
https://dl.doubtnut.com/l/_Uw92ONjyXrwa


30. Find the value of k if the points (2,3) , (5,k)

and (6,7) are collinear .

A. k = 4

B. k = 6

C. 

D. 

Answer: B

Watch Video Solution

k =
−3

2

k =
11

4

https://dl.doubtnut.com/l/_Uw92ONjyXrwa


31. If the points A(1,2), B(0,0) and C (a,b) are

collinear, then

A. a= b

B. a = 2b

C. 2a = b

D. a+b =0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BXfRn3MVGICt
https://dl.doubtnut.com/l/_KcygferhlrZZ


32. The area of a triangle with vertices

A(3,0),B(7,0) and C(8,4) is

A. 14sq units

B. 28 sq units

C. 8 sq units

D. 6 sq units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KcygferhlrZZ


33. If AOBC is a ractangle whose three vertices

are A(0,3),O(0,0) and B(5,0), then the length of

its diagonal is

A. 5 units

B. 3 units

C. 4 units

D.  units

Answer: D

Watch Video Solution

√34

https://dl.doubtnut.com/l/_WCyhBjfSMMFV


34. If the
 distance between the points 

and 
is 5, then  ?

A. p = 4 only

B. p = -4 only

C. 

D. p = 0

Answer: C

Watch Video Solution

(4,  p)

(1,  0) p =

p = ± 4

https://dl.doubtnut.com/l/_QJoluKAkOd8N

